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2016 International Mathematics Contest (Taiwan)
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( A )1. Calculate the exact value of (379+379)x5007?
(A) 379000 (B) 397000 (C) 558000 (D) 548000
BEHT + 379X 2X500=379 % 1000=379000

( C )2. Andyobserves beans(2%) growing into sprouts(3§Z). The beans
sprout grew 6 cm and 5 mm on the first day, and 6 cm and 4 mm on
the second day. How many centimeters and millimeters did it grow in
two days?

(A)12cm1mm (B)llcm2mm (C)12cm9mm (D) 11 cm 8 mm

BT 6cm5mm+6cm4mm=12cm 9 mm

( D )3. 5spoons of sugar can be dissolved in 3 cups of cream. The volume of
one spoon of sugar solution is 108 milliliters. How much is the volume
of one cup of cream? (A)8ml (B) 116ml (C)76ml (D) 180ml

f#4T © 108x5=540 * 540--3=180ml

( C )4 BIERHERNK: £E2IFFLE - B LCHERIFELS 2 3% 1000750 13 R
500 JT » 10 58 100 7T > 30 @ 10 7t @ EBRAHEEZDIT
(A) 8900 (B) 9600 (C)9800 (D) 9900 JT

E24T © 20004+6500+1000+300=9800 JT

( B )5 —BRDEFETHE 12964 N5 RoTBiE—H4% » EFEFEE 6928
NG BEETEDDNT T
(A) 756 (B)892 (C)896 (D)1020 ATe
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: 12964—6928=6036 * 6928—6036=892 /52

) 6. RIS HIERR 300 -1t » HIPALTEEREH 2 {8 » FEZHRKEM 3
(& KALEFEEHEB&R ©
(A)270 (B)280 (C)260 (D)240 Z

300+(1+3+6)=30 ’* 300—30=270 %

) 7. 1RCKEEER 6 A7 2 BXK 0 8 RNEEEHIN—BIR ° RSDLDD

DEXK @
(A) 39 D 6 XK (B) 39 N2 4 K
(C) 49 D 6 K (D) 49 D 4 EK

6 A 2 EK=62 K » 62x8=496 > 496 EX=49 AP 6 EK

)8. NEBF-EEE  BXBF 108 FB 6 XJ8EET  WRBIERI3I X
B BREEIBFXEE
(A)6 (B)8 (C)9 (D)10 B

10x6=60 * 6—3=3 » 60+3=20 > 20—10=10 &

)9. WEB - A4 BELTEN—ERER - BRU
SEROENAERE 60 A7 » BE—ELELH

HEREZDND T
(A)20 (B)24 (C)26 (D)28 7D
60+-10=6 * 6x4=24 A7

) 10. 208 » 970 2 DRI SMBBEABENEL - $//;>v4:\\z

NEIEEE 3 AP 0 BEPECHEER \z}/\{i/

DN
(A) 18 A7 (B) 12”373 (C)24”3 (D) 28 XD
34+3=6 6x4=24 D
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) 11. B—IRKEBDIEFEN 0.7 RABIKAKE » S—IRIVKEGDEHK
FmE 0.3 AFF » #558 25 DIERKEEBSDAFHEIK <
(A)0.73 (B)10 (C)30 (D)70 AF

0.7-0.3=0.4 0.4x25=10 AFH

) 12. NBIN—ENZEBETER 4 D& » £ M 4 05 54 D15 6 &8 » BT
MBDBNT 1 018 » BT ESIEFLNEERE <
(A) FF 3:27 (B) T4 4:27 (C) FF 428 (D) ¥ 5:28
KB 6+2—-1=2 D& * BB 6x4=24 > 24+2=26 D&
4 BF 54 0 —26 DiE=4 IF 28

) 13. BEEHBR K/ WIESFA=
AEFTERNEB » FRE—E
BRAICEE—&RK B Z 23] T
A B B R (€T (D BREB

B=1 =@ +4 IE5F * =3 =BfZ+2 [EOF »

R=4 1EF5F » T=3 =8fz+2 [EFF

SBSA>O=T

)14, KBRS 37 AT _BREE 40 AT » NEMEER 35 AT =
BASXKITEEBOEMEE - —HEMIRE 500 AT @ RECKSHE
465 N fT » BREHEILALMBMASEBE ©
A A& @B _F (©C) JNLE (D) BBE=R

(A) 465+37=502 ¥BE  (B) 465+40=505 B * (C) 465+35=500 f3lfg|45

)15. GRESEHESKENFERIE 20 | B8 | &5 (o
B3 A SORL)ERESIZRT - A FRES | 50
BARITRAES CAEmEseEs o0 | O
— B DT REEE 40
=1 AREBIHBEYSDIT < EREL 50
(A) 2160 (B) 1800 (C)1440 (D)1200 | giiEs 60
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36+(5+1)=6 * 40x5x6=1200 JT

)16. FB7°4°90° 5 8 HERNBY/ ISP » RABEAR &)\ EBHEEDD <
(A) 534951  (B) 576981  (C)578142 (D) 581751
K : 987540 » /) : 405789 » 987540—405789=581751

) 17. BENE L4 7 SRR ES ENSHETIEI - FESIRFERETF
105 AEFERHEESTIDE
(A)90°  (B)120°  (C)180° (D) 190°

F 105=130F > 13—-7=6 85 » BFETE S 6 K4& » 30° x6=180°

) 18. EEF5 9 A—HBERE » B AR 520 JT ERERXRRE—HES 4590
TG AAEEENEYIZLZDIT @
(A)10 (B)12 (C)15 (D)18 7T

520x9=4680°* 4680—4590=90 * 90+-9=10 JT

) 19. WBEEB @ IR UEEREAARNVNBIE=AF <
(A)1618 (B)271@ (C)251@ (D)301E
16+7+3+1=27 {&@

) 20. B 252 [@F =M nEt 4 @BAEFH 9 BNEFTP  EFA—BAEST
N=BNEFMENFT=M—15Z » BRAEI)NEFESMEBTZM <
(A) 6 (B) 8 (C) 10 (D)12 @

4 BREE+3BRE=7BKXSE ’» 252+7=36 @ * 36+3=12 @

)21, IRBNIER > BBFE 23 IREEHRIZ <
(A) £13 (B) €23 (C)%s% (D) B 435
B 2 B BUCHIEIEBR » FILURES 2
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( C )22 B—EERFEE  [IX  [ONAKRSSIER  IXHE—BEE 4571

BT -

BT -

BT -

fINRFIEEE » & 20 WSFFIXAEE—X - BN E—BEFEA
e (A)25 (B) 30 (C) 36 (D) 40

idgisal
45-20=25
B Kox BIX20%0 90220 : 255 x=16
B 3220 B 3z225#0
.20+16=36
THB

) 23. ERE 200 ([BERBERN—(IESHE (—A—] > BUEENE)
EXE 6 EEA > iﬁ%ﬁ‘*i&)\?ﬁ%{%ﬂﬂ  BEAEDBE—Z -
EREASHREZERHEE IS MEMERITEBER <
(A) 62 (B) 63 (C) 64 (D) 65

TESES xR HEEEF

> x+24x+1+x+3+2+1<200 |BR| 1 | 2 | 3 | 4|5 |6

[===]
9XS63§’XEE§K=63 = X+2 | Xx+1 X 3 2 1

17 : (200-3—-2—1-1-2)+3= 63% S BZ63E

)24, T—REBBREAPE aBAEZEDBLIET B aBAEDB 28T
ﬁ aBAZEDBIET - » B a,BAZDEB n BT BABBEn
 BHENRIBRZDETT @
(A) a;+a,+az+ -+ +a, (B) a;+2a,+3az+ -+ - +na,
(C) arxazxagx -+ -+ Xa, (D) (14+243+ - - +n)Xxa,

1x(a;—a,)+2%(a,—as)+3(az—as)+4(as—as)+ -+ -+ +n(a, _;—ay)
=a;—ar+2a,—2az+3a;—3a,+4a,—4as+ - -+ +na, _1—ha,

=a;t+ataztas+ - --- +a,
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( B )25. A~B-C DUAFOXIIEE » INBERW TR o
AEIBE 700 C1E6090 KD 2ED - (BH—EE107)

aran Paray /5;%— Paran Paray /5;%— Paran Paran Paran Paran /]_J\
11213415 /6/7/|8) 9104
O o = O = O = O = O = O = A = I =
AlOIX|O I XIO|O|X|X|X|O]|T70
Bl OO I X | X | X|O]O|O]|X|X |70
C I X | X[ X]O|]O | X|O|X]O|X]|6e60
D O X | X|IO|]O| X | X]O|X|X]|?
(A) 50 (B) 60 7 (C) 70 D (D) 80

i ABABBABH 78 2 A\GETEY 148 - EMANBERB 4 @18E » H
8500 6 BAE - 2E (BEARE) B 6 BDVARE 6 BIER  BILFIS (B
£18[8)) 84 EPH 8 BHIERR  BI=SRIER -

SUBAREERRE LR (O)  F48 (X)) E6mE (O) LB () -
£ C NBXRD LIITBAESHE S  HHES DA 60 JRNEMEMEETH S -
R EAER > DEHKHEE 12359108 HEHMR60-

||| B B B B B |FB|=HE 2
1/ 2|3| 4|5 |6/ 78] 9]10 .
T = = O = O = O = = O = A = R =
A O | X|O|I X|IO]O | X|IX|X]O]|T170
B | OO | X | X | X]|]O|O]O|X|X|170
C | X[ X[ X]|]OlO|X|]O|X|O]X]|es0
D O X | X|O]O|X|X]O|X|X| ? =607
FBI O I X | X | X]TO|]O]0O|X|X|X
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_ -5tEE (& 257)
1. HABRIE -
CINE 1 4 2 5 4 7

2 3 3 4 5 6

[B2] : 1x2x3—4=2 1 2x3x4-5=19 » 4x5x6—7=113-- --- &
1) HETI? 22D -

(12 1 BARAS 10 0 1B 2 B AE#ES 15 1)
7 2 5 10 9 2

2 4 8 2 4 10
(2) b LB SEBIEE -
(BD2%E+ - x - EBEERISEESE > 10)
BT+ (1) BEMRE  Tx2-4x2=6 5x8—2x10=20 * 9x4—10x2=16

BER1. (T-1)x2—-2-4=6 SR 2. T7+2-4+42-1=6
(5—1)x8—10—2=20 5+10—2+8—1=20
(9—1)x4—2-10=20 9+2-10+4—1=4

@ |5 4 7 5 10 7
23 43 ?
3 2 4 3 2 3

OX3+4x2=23 » 1x4+5x3=43 » 10x2+7x3=41

2. MRIRAYUZE » 5 461380 & SRIIRE R 2 {52 1250 & URLLERAD) 56725
€ FENGEHNISEERE <
BRAT - B8=461380x2+1250=922760+1250=924010 °
#8=924010—-56725=867285 °
L BEFIER LS 4613804-867285=1328665 &--- - &
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